Iaypow puajjo  jou puojard  1Bd

XX W Aeoyeyy  Aew Lxxpy 1ed 8%
_seoatd ojur saded no joN.
Iea] 12ded mo  JON
reey Igepely ¥l jou ¢
CJ[9s1ay Aq SALIP 0) SIEP 10U PIP BN,
J[9SQUO IO QALIp 9ABI1q  jOU eN
bas 101 deyy eep] Aew eeu 7
.']00YDS 0 j[em 10U PIp W0,
[ooyos 08 Eem  JouU  wog
upttboor  Aed ugop Aew  wcd 1

:(G-¢) ur se ‘gloA BUIpUBWIWOD
111 9yl SuneSau uey) I9ylel ‘dUO ST 319U} JI ‘qIdA danE)nsal e jedsu 03 s1 2dA1 puosas
YL (Z-1) ul se ‘90UauUas © JO GIoA SUIPUBILIOD ISITJ Y} 13U 03 ST ‘U0 UOUIWOD Y SI
yorym ‘ad4y sy oy “1ey] Ul SUONONISUOD AU JO SadA] UTBWT 0Mm] aIe 2IdY |

(‘661 BATRQUIRIPU] PB21 PINOYS SIY} Ul PAISIIIUI I8 OYM ISOY ] 'GIOAPE UE SB Jou, Abws
Sunean 10J 9ouapiAd onoeIUAS 2yl ssnosip 03 Joded sup Jo asodmd oy jou ST 1[) "qIoA ®
ajdau 0} Jou, dpw qloApe aaneSau oy} ursn Aq pauLIO} SI UONONIISUOD 2ATEIU B TRy ]
U] ‘uonodnnsuod Jou (uayl) ‘wou (1), Apw--Apw A1IBISU [BUONIPUOD 3} ST JBPOWOIIE
01 reurweld Aouspuadap aseIrxa[ 103 YNOUJIP SI Jeyl Tey] Ul UOTIONIISUOD ISIJ oY |

uonINIISUCd jJou (Wdy)) ‘you (J1), Apui--Avw IAIB3IU [BUOLIIPUO)) T

‘pawrero Ajerewnidy]
9q [[1S UBD S2IMIBaJ ONSINBUI] JO AJI[BSISATUN Y} Jey) SMOYS pue saden3ue] JO AIISI2AIp 3}
Jo Surpuelsispun I2112q B 0} INGILRUOD [[IM APmis SIY) JO }nsal 9y ‘rey] ul euswouayd
DIJOBJUAS JO Spuly 2sayl 10j Junodde ued ‘rewweld Aouapuadop oseoIxd| ayi| ‘Aoenbape .
Aloreuejdxa 9jqeIopISUOd Yim K109yl onoejuds e moy urejdxs o3 idwoene o3 toded
siy) jo asodmd ayy st 3] -oseryd unou Joynuenb peje3sou B pue ‘UONONISUOD J[ASAUO,
l122on) SATXI[JAI Y} ‘UOIIONISUOD J0U (Udy)) 10U (J1), Avw--Apw 2AnE3aU [BUOIIPUOD
oy opnjour raded SIyl ur passnoSIp 2q (A4 JBY} SUOIONISUOD SY] 10 PIjUNoode
A]nyssadoons oq Ued IBY] Ul UOHONNSU0D A19A2 jou jey Joded smpy urno paurod oq
'm0 Jewrwess Aouepuadap paurelisuod Jo pury STyl Jopun SUNIOAy 'SSLIOS) ONORIUAS
Aresodwaiuod 110 eyl 19112q o8enJue| Aue Ul UOTIONIISUOD AISAS JSOWIE IO JUNOIDE O]
(001 2)duiis e sapiaoid 1ey) YIomawel JO pury 1oijdxa pur [BULIO] B ST 3SBIIXI] 1B} SZ1[Bal
Trewweld Aouspuadop oseorx9] Juisn XejuAs uo SUDIOM USdQq SABY OUm ISOUJ

uondONponuy ‘|

vAuB.IBg ‘CA[RUIB}IARS

JAewurern) Loudpuada(g
ISBIIXIT IO SWA[QOIJ S[qNIOSU] :18Y [, U] SISBIYJ UnoN Jdyyuend)

PAjE3aN puUy ‘SUONINIISUOD) IAIXIPY “DANESaN [BUOnIPUO)



. ‘Pat pretended not to offend her mother.’

nooy tham khwaamsa?aatmdy hay  baan sokkaprok
Noy do cleaning not give house dirty
‘Noy cleaned the house so that it would not be dirty.’

In sentences (1-2), the adverb mdy ‘not’ negates the first commanding verbs dddi

‘walk’ and klad ‘be brave’, respectively, whereas in sentences (3-5), mdy negates the
resultative verbs khaat ‘tear’, khatcay ‘offend’, and hdy ‘give’, respectively. Sentences
(3-5) would be ungrammatical if the adverb mdy negated the first commandmg verbs, as
seen in the following sentences: »

6.

7.

8.

*nok may . tat  kradaat khaat

Nok not cut paper tear

*pat mdy klaad khatcay mxXx

Pat not pretend offend mother

*nooy mdy tham khwaamsa?aathdy badn sokkaprok
Noy ~not do cleanliness give house dirty

The internal structure for the negative construction in which the adverb mc

negates the first commanding verb is illustrated as follows:

] ‘ :
| I |
m

I I - 3ndex |

pom may +V  pay. |

Index 2ndex - -trns 4ndex l

Nom +Adv +fint +V roonrion
PAT . 1[+Nom] -trns Sndex
actr ‘ 1[+PAT -fint - Acc

2([+Adv]) 1[+PAT]  LOC
4([-fint]) ~ S(+LOC)
3<2([+AdV])

3>4([-fint])

" STEMMA

The tree stemma demonstrates that the adverb may ‘not’ negates the fir

commanding verb dé ‘walk’ of sentence (1).

~ The internal structure for the type of negative construction in which the adver

mdy negates the resultative verb is illustrated as follows:
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13,  *yaa hiw yaa  kin

do not hungry do not eat
14. *hadm hiw haam kin
prohibit hungry prohibit eat
15. *vaa Ioon yaa  ruu
do not try do not know
16. *haam lo>om hadm ruu
prohibit try probihit know

The question arises as to how to determine the internal structure of sentence:
containing conditional negative construction. Consider sentence (10), repeated here a
(17y:

17. may 1o>on may rud

not try not  know

"(If I/ you) do not try, (I/ you) will not know).’

There are three possible ways to assign the internal structure to sentence (17)

The first hypothesis is that mdy />>5n and mdy ruu are treated as a coordinated clause
The structure would look like the following:

_— _—

i !

| Io>om | rud
| 2ndex { 4ndex
may +V may +V
Index -trns 3ndex -trns
+Adv -fint +Adv -fint
1([+Adv]) 3([+Adv])

STEMMA 11

However, this structure is not possible because if mdy /=>r and mdy rui were tc
be coordinated, it means that the criteria for justifying a coordinate clause would be
applicable with mdy [=>>n mdy ruu clause. Let consider these criteria step by step. The
first criterion is that constituents that are coordinated must have a coordinate conjunction

as in (18). However, ther is no coordinate conjunction that can combine mdy [>>7 anc
mdy ruu, as in (19):

18. maa kap mxxw pen  sattruu kan
dog and cat be enemy reciprocal
‘Dogs are cats are enemies.’

19,  *may loon kap mday ruu
not  try and not  know
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